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WALLI’S FORMULAE
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If n and m both are even: )\’
Using alternating eq. (i) and (ii) .
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If n is odd and m is even:
Curves sinx cos?x,
In this case formula (v) is valid. sinx cos*x , sin3x cos*x
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Example 10.23: Physical science:
A design is painted on the door of a toy car, as shown in
the figure 10.82, in two colors blue and gray. The upper Z

part is blue and lower part gray. The curves which form
the design are

f(x) = sinx, g(x) = sin®x and h(x) = sin’x between
x = 0andx = g, top to bottom respectively.

(a) Using Walli’s formula find the areas of blue and

gray colors.
AUTH@R Figure 710.82

ASSISTANT PROFESSOR OF MATHEMATICS

\'4

AQSOOD ALI
FROM WEBSITE

www.mathbunch .com

220



www.mathbunch.com M. MAQSOOD ALI

/2 /2
= j sinxdx — J sin®xdx N
0 0 1k
2.4 -
e
= [sinx], 135
=1 8 ]
B 15 #
7 |
= 1= sq.units
O --'n"‘ L Ly
Area between the curves g(x) and h(x) . o Te T3 /2

Figure 710.83

/2

ao= [ 1900 = hyax
0

N
/2 /2 1
= j gx)dx — h(x)dx
0 0
/2 /2
=f sin®xdx —f sin” xdx 5
0 0
24 246 8 16
135 1357 15 35
0 L L
_ 8 " o e T3 2
= o5 S¢-units
Figure 10.84
e

221



www.mathbunch.com M. MAQSOOD ALI

EXERCISE

Evaluate the following:
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(7) Of sin’x cos® x dx (8)! cos’x dx Q
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(11) J (inx)7 dx
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